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401 Al HIZL 201 70,000 0 70,000
= 21,000
Al 49,000
01 AlZH| 70,000 0 70,000
<cot XI2ICH <2l Ot &8 30,000
= 9,000
Al 21,000
<ol 0 280l 2X4 £X 40,000
[ 12,000
Al 28,000
THoH THeH Ol 9,951,335 7,800,913 2,150,422
= 2,185,083
= 105,000
S 2,251,521
Al 5,409,731
otd &l 9,951,335 7,800,913 2,150,422
= 2,185,083
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SN A
2 THoH TH:H Ol
s ofd & EER=E)
SA - BB - SR(SIH) - KISAK - A HIm=S2t
Al 857
SUSIEFHIAIY SLAS(D=A =1 =1 766,550 3,076,923 A2,310,373
T 766,550
401 A& B 20HY| 766,550 3,076,923 A2,310,373
& 766,550
01 AlEHI 766,550 3,076,923 A2,310,373
A=A XUotE AL 766,550
T 766,550
ol SX22IAIE(EX) 30,000 0 30,000
= 15,000
Al 15,000
401 AIEHIZL 201 30,000 0 30,000
T 15,000
Al 15,000
01 Al&HI 30,000 0 30,000
20td KXl 30,000
& 15,000
Al 15,000
25IE MAl RRAES(EX) 94,000 100,000 6,000
& 47,000
Al 47,000
401 Al HILS0HY| 4,000 100,000 6,000
= 47,000
Al 47,000
01 AlEHI 93,14 99,100 Ab,946
KLGHE &Al RAE2 93,154
& 46,577
Al 46,577
03 Al 2 CHYI 846 900 N4
KLGHE AAl SAE4 846
T 423
Al 423
SIEAEE BYUEZ 2 HUl(BB 243,000 290,000 A47,000
= 121,500
Al 121,500
401 A& BIZ20HbI 243,000 290,000 A47,000
& 121,500
Al 121,500
01 Al&HI 241,250 287,912 A46,662
Xgotd Ald=E 3LE3d 241,250
& 120,625
Al 120,625
03 A& 2 0HYI 1,750 2,088 A338




SA AL
S THoll At ol
[ s Be] s eSfa] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ngotd AldE d28d & dH 1,750
= 875
Al 875
Xsotd steFdl & 2el(2x) 600,000 183,333 416,667
=S 180,000
Al 420,000
401 AIEHIZ SR THYI 600,000 183,333 416,667
< 180,000
Al 420,000
01 Al&HI 596,220 182,014 414,206
XLt t=&=Hl & 22 596,220
& 178,866
Al 417,3%4
03 A2 2 0HYI 3,780 1,319 2,461
Xgotd ot Hl & 22 3,780
= 1,134
Al 2,646
Neotd EMEFH(ExX) 216,000 78,000 138,000
[ 108,000
Al 108,000
401 Al HIZL S 0HYI 216,000 78,000 138,000
= 108,000
Al 108,000
01 Al&H| 214,446 77,298 137,148
Agotd EIXME AH| 214,446
= 107,223
Al 107,223
03 AIZSTHYI 1,554 702 852
Algotd EXME FH| 1,554
== r
Al r
2otd ZH| 290,000 880,000 A590,000
401 Al HIZL 201 290,000 880,000 A590,000
01 Al&H| 290,000 880,000 /590,000
& X2otA HHIAY 55,000
AlHel ot EBIAY 60,000
SEACHE HHIAE 80,000
SZAcHE HIAY 55,000
CHOkAotE EHIAY 40,000
aotd AOIE HF22lAAYE 75 A 210,000 0 210,000
= 105,000
Al 105,000




SA: AT
S THoll At ol
s ofd & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
401 Al HIZL 2018 210,000 210,000
= 105,000
Al 105,000
01 Al&H| 210,000 210,000
A0t AQIE AFACIAAE AFAY 210,000
= 105,000
Al 105,000
NYotd THol ol 2 500,000 500,000
< 250,000
Al 250,000
401 Al HIZL S 0HYI 500,000 500,000
& 250,000
Al 250,000
01 Al&H| 496,040 496,040
ST AL B BLAY 297,840
= 148,920
Al 148,920
LIBE AlE 24 - 2ZAISE 99,100
s 49,550
Al 49,550
SHA2 AME B - 2ZAY 99,100
= 49,550
Al 49,550
03 A2 THYI 3,960 3,960
ST AL B BAE 2,160
= 1,080
Al 1,080
HEE AlE 22 22AHY 900
& 450
Al 450
SHE2 AL B BLAY 900
= 450
Al 450
AGHE FHIAFY X (M) (Al & &) 450,000 450,000
401 Al HIZ S OHbI 450,000 450,000
01 AlZ2H| 446,760 446,760
AEAGHE HHIALY 446,760
03 Al 20HHI 3,240 3,240
MY Aot SHIAY 3,240
Aot THoll= 7 At 2,117,294 2,117,294
= 1,068,647
Al 1,068,647
401 AIEHIX SO 2,117,294 2,117,294




SA: AT
S THoll At ol
s ofd & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,058,647
Al 1,068,647
01 Al&H| 2,117,294 2,117,294
CHOFAGHE THOHS 2 AL 161,012
= 80,506
Al 80,506
SE0HE MHol=+ At 909,355
= 454,678
Al 454,677
HE40E Mol=S+ At 55,744
= 27,872
Al 27,872
Z0totd MHol=+ At 91,8%6
= 45,948
Al 45,948
LiddAote o= AL 57,972
= 28,986
Al 28,986
A WAGHE THHS T ALY 82,629
= 41,314
Al 41,315
=g Saotd Moll=+ At 96,976
= 48,488
Al 48,488
A0 Mol=S+ At 163,468
= 81,734
Al 81,734
tisAote oS+ ALY 131,414
= 65,707
Al 65,707
HE20LE MHoll=+ At 162,954
= 81,477
Al 81,477
CHEtAGHE THOH= T A 106,422
= 53,211
Al 53,211
LHAGHE M= AL 97,452
= 48,726
Al 48,726
A0tE o= AL 829,500 829,500
401 AIEHIZ SR OHYI 829,500 829,500
01 Al&HI 829,500 829,500
ZAACHY SoHSET AL (238 S1A) 556,500
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A A4t
BE: ol Tt ol
=2l ot Hhl (CH9: &S1)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
CHE A THOH=S FALS 376,182
= 202,591
= 173,591
=& Mols AL 378,718
= 201,859
& 176,859
NtE THH=TAFS 26,497
= 26,497
LA & THOH =AM 46,489
= 46,489
A= MHol=7ALS 131,120
= 69,810
& 61,310
SWHE MH=S2AI 147,354
= 8,177
= 69,177
geld Mol=s AL 33,834
= 33,834
A THH=TAIS 414,475
= 229,139
= 185,336
ZEA =S AIS 40,615
= 40,615
S2HE Mol=2AL 189,598
= 100,799
= 88,79
03 Al S CHHI 12,798 12,798
CHE A THOH =AM 2,933
= 1,469
& 1,469
A= Moi=7A 2,928
= 1,464
= 1,464
A= Hol=7AS 1,012
= 506
& 506
SUE Moi=7A 1,134
= 567
& 567
A THH=7AS 3,324
= 1,662
= 1,662
S2HAE Mo=s AL 1,462




S AL
S THoll At ol
[ s Be] s eSfa] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 731
=S 731
HH 23 63,208 9,609 233,401
=238l 63,208 96,609 A\33,401
JI23Hl 63,208 96,609 A\33,401
201 et 3| 43,258 53,509 /10,251
01 At22t2l] 31,058 46,509 15,451
2 ot=2H| 22,058
=l 750,000 122 9,000
2 s5=34l 12,200 7,000 5,200
32 & AMAl 600,000 * 12 7,200
ARA =5 MI|, S4EHl Fh 5,000
202 04| 15,000 15,000
01 =LHOLI 15,000 15,000
fA2E =0 1,250,000& « 123 15,000
203 HR=&H] 4,200 4,200
M EA2ER=A 4,200 4,200
FAEE YR 350,000& 12 4,200
405 AtatE =4 750 3,900 A3,150
01 ML ESFSHI 750 3,900 A3,150
AT 24 a0 2
750,000 1K 750




